
1/16

��: 100-P-000225-CN-03

��: 12.2018

�������
�����/�	�
QXEM
�,	��4��
�



100-P-000225-CN-03/12.2018
������� QXEM

2/16



 

100-P-000225-CN-03/12.2018
������� QXEM

3/16

�	 �

1 �� 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1.1 �	
� 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1.2 �� 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

1.3 �
 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2 ���� 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2.1 ������ 5. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2.2 ���� 6. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3 ���� 7. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3.1 �����	���	
� 7. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3.2 ��� 7. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3.3 �� (ƞ) 9. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3.4 ��� 9. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

4 �� 10. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5 ��
� 11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5.1 
�!� 11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5.2 "#�� 11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5.3 �� 11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5.4 $
%& 11. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

6 � 12. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

7 �! 12. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

8 "�#$% 12. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

9 
�
�!&�' 12. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

10 (� 13. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

10.1 '��- ()*+�SAE J518 ,� 61 / ISO 6162-1 -. 13. . . . . . . . . . . . . . . . . . . . . . . . . . .

10.2 �/� - ��0 14. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

10.3 �/� - 	10 15. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



100-P-000225-CN-03/12.2018
������� QXEM

4/16



 

100-P-000225-CN-03/12.2018
������� QXEM

5/16

1 ��

1.1 ��)�

2�31�4��5�6��7���
89
�:�;
��	： QXEM �������。

QXEM �<�	���=>��?�
4@ A，BCD
�EF�"1G	1H。
#�<�	BC�;�$%IGJK�&，LC��)*
EF�MN'O，P�4 2 ��G4 ��Q.()�*�
R，?"1�	1S&$
�
�TU�V。

QXEM�
�"+W��,�LC�����-（���
G-/X��Y�），Z[1\]	1�
�2^_	�
3�`a。

1.2 �*

� +,-�，/0�12

� 3�4����5��，���"67�8

� 9:;��:;<�=�">?��

�  �;�!;@�	�"AB#CDE

�  9$!FG	�"%H�">&�I'

� JKL>M(N)（8��5）

� ��� HFB、HFC � HFD Q�R� -�STUV�

	/"
1bH "/	

1bH

��c

de4f
���

1.3 	�

� ghi

� 31.1bi

� jk1li

� 15i

2 ����

2.1 �W����

�� �� XY，:

'��� m�n

op%/（"#） +� ISO 3019/1 (SAE) "#� 2 (/� :QXEM 3-6
+� ISO 3019/2 (�n) "#�2(/� :QXEM 2+8

$
%& 6��G7��

8�%/ qr9-s

31t +� DIN 51524 u 2 ,v�w� HLP xyt
+� VDMA 24317 �w� HFB、HFD G HFC t3
（z�t3:9�2�31）

31t��{�;|},� 20/18/15 (�� ISO 4406)

~�<W
��<W

mm2/s 10 … 100
10 … 300 （�;��:9�2�31）



100-P-000225-CN-03/12.2018
������� QXEM

6/16

�� �� XY，:

31t�W=� °C -20 - +80 （:g�t3<W）
TU=�： +30 … +60 / �� 09： -20°C … +100°C

����{1b bar 1.5（>4�）（?�[=�:9�2�31）

O��1b O� P1 + O� P2 �;
'@1b

MN��k NBR = "�
FPM（�R�A） = �� 09

2.2 �Z�[

\Z!&�'： �
+� DIN 51524 "#�<W� 42mm2/s �xyt�，�<�����B


;<
^6

[cm3/U]
_=;%

[rpm]
`)��

[bar]
ab 3)

[Nm]

"@ C� 1) ���CD
� 4)

���	C
D�

'@ E� 2)

QXEM22-005
QXEM22-006
QXEM22-008

005
006
008

5,1
6,3
7,9

3250 6000 210 250
17
21

26,5

QXEM32-010
QXEM32-012
QXEM32-016

010
012
016

10,0
12,6
15,6

3050 5500 210 250
33,5
42
52

QXEM42-020
QXEM42-025
QXEM42-032

020
025
032

20,3
25,1
32,3

2900 5000 210 250
68
84
108

QXEM52-040
QXEM52-050
QXEM52-063

040
050
063

39,1
50,3
63,4

2500 4500 210 250
131
169
212

QXEM62-080
QXEM62-100
QXEM62-125

080
100
125

79,8
100,5
124,2

2250
2050
1800

4000 210 250
268
337
416

QXEM82-160
QXEM82-200
QXEM82-250

160
200
250

161,9
200,0
247,7

1600
1500
1350

3500 210 250
544
671
832

1).�%���1��nF�����%!�.

2) �G 20 �/vH，"#�?) 10% ���。

3) �{�;'@1b��TI�。 4���� ，:�J�K 3。

4) ��$�>41b� 0.98 bar。



 

100-P-000225-CN-03/12.2018
������� QXEM

7/16

3 ����

3.1 )>����<>_�:;

100

200

300

400

500

p [bar]

0

600

700

800

900

1000

0 50 100 150 200 250

'@CD

E�CD1)

�G 5 ��E�CD

�G 2 ��E�CD

n
 [

rp
m

]

…n_=:

1) �G 20 �/vH�E�1b，"#�?) 10% ���。

3.2 ?@L
�� DIN 45635 u 26 ,v]	�����%��LD�%，B
���M�，!�� ± 1.5 dB [A]。

3.2.1 QXEM22

82,5 - 85,0
80,0 - 82,5
77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5
42,5 - 45,0
40,0 - 42,5
37,5 - 40,0
35,0 - 37,5
32,5 - 35,0

dB [A]

250 200 150 100 50

20

6000

5500

5000

4500

4000

3500

3000

2500

2000

1500

1000

500

p [bar]

n [rpm]

20

3.2.2 QXEM32

82,5 - 85,0
80,0 - 82,5
77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5
42,5 - 45,0
40,0 - 42,5
37,5 - 40,0
35,0 - 37,5
32,5 - 35,0

dB [A]

p [bar]

n [rpm]

250 200 150 100 50

5500

5000

4500

4000

3500

3000

2500

2000

1500

1000

500
20



100-P-000225-CN-03/12.2018
������� QXEM

8/16

3.2.3 QXEM42

77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5
42,5 - 45,0
40,0 - 42,5
37,5 - 40,0

dB [A]

250 200 150 100 50 20

5000

4500

4000

3500

3000

2500

2000

1500

1000

500

p [bar]

n [rpm]

3.2.4 QXEM52

80,0 - 82,5
77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5
42,5 - 45,0

dB [A]

250 200 150 100 50 20

4500

4000

3500

3000

2500

2000

1500

1000

500

p [bar]

n [rpm]

3.2.5 QXEM62

77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5
42,5 - 45,0

dB [A]

20

4000

3500

3000

2500

2000

1500

1000

500

p [bar]

n [rpm]

250 200 150 100 50

3.2.6 QXEM82

77,5 - 80,0
75,0 - 77,5
72,5 - 75,0
70,0 - 72,5
67,5 - 70,0
65,0 - 67,5
62,5 - 65,0
60,0 - 62,5
57,5 - 60,0
55,0 - 57,5
52,5 - 55,0
50,0 - 52,5
47,5 - 50,0
45,0 - 47,5

dB [A]

20

3500

3000

2500

2000

1500

1000

500

p [bar]

n [rpm]

250 200 150 100 50



 

100-P-000225-CN-03/12.2018
������� QXEM

9/16

3.3 cd (ƞ)

]<W 42 mm2/s、�W 1450 min-1 �~��LD�%，
lN = '@1b;ON = �{E�1b

3.3.1 	ecd

0 50 100 150 200 250
70

80

90

100

82
62
52
42

32

22

pΔ [bar]

ƞ
vo

l [
%

]

3.3.2  �fgcd

0 50 100 150 200 250
70

80

90

100
82
62
52
42
32
22

ƞ
h
m

 [
%

]

pΔ [bar]

3.4 N�ab

3.4.1 QXEM22

005
006

008

40

20

0
0 50 100 150 200 250

10

30

pΔ [bar]

M
 [
N

m
]

3.4.2 QXEM32

60

40

20

0
0 50 100 150 200

010

012

016

250

pΔ [bar]

M
 [
N

m
]

3.4.3 QXEM42

80

60

40

20

0
0 50 100 150 200

100

120

020

025

032

250

pΔ [bar]

M
 [
N

m
]

3.4.4 QXEM52

200

100

0

040

050

063

0 50 100 150 200 250

50

150

pΔ [bar]

M
 [
N

m
]

3.4.5 QXEM62

400

300

200

100

0

080

100

125

0 50 100 150 200 250

pΔ [bar]

M
 [
N

m
]

3.4.6 QXEM82

400

200

0

600

160

200

250800

50 100 150 200 2500

M
 [
N

m
]

pΔ [bar]



100-P-000225-CN-03/12.2018
������� QXEM

10/16

4 ��

)*,� 2 3 4 5 6 8

1b,� 2 2 2 2 2 2

�PO�，+� SAE J518 1) P1, P2 1” 1¼“ 1½“ 2”

���O�，+� DIN 3852 u 2
,v

PL G ¼“ G ¼“ G ¼“ G ¼“ G ⅜“ G ½“

'�-.： � - 2(/�，
+� ISO 3019/1
（SAE - )*,� 3-6）
ISO 3019/2
（�n - )*,� 2+8）

A 118 132 170 212 267 330

 B(SAE) - 106 146 181 229 -

B(�n) 100 109 140 180 224 280

C 9 11 14 18 22 26

N(SAE) - 82,55 -0,05 101,6 -0,05 127 -0,05 152,4 -0,05 -

N(�n) 63 h8 80 h8 100 h8 125 h8 160 h8 200 h8

O 8,5 8,5 10,5 12,5 16,5 20

V 6 6 7 7 7 9

'�-.：4(/�,+� 
ISO 3019/2

X(�n) 9 9 12 14 18 22

Y(�n) 85 103 125 160 200 250

-¡-.：  ¢-，
+� ISO/R775 2)

D 16 j6 20 j6 25 j6 32 j6 40 j6 50 j6

E 28 36 42 58 82 110

F 5 6 8 10 12 14

G 18 22,5 28 35 43 53,5

I 37 44 51 68 92 122

�£

K 37,5 44 52,5 60,5 74 90

L 121,5 145,5 177,5 211,5 249 314

T1 43 53,5 67 88,5 110 138

T2 43 60 70 88,5 110 138

Z 100 120 125 156 195 250

�% kg 5,2 9,6 17,3 30,2 56,5 111,3

1) 4� SAE J518 ,� 61 '� ISO6162-1 ��/�(�)*，:�J�K 10。

2) ¤�z�-¡，:9�2�31。

3) QR��¥ DIN 3852 u 2 ,v。

1

P1

E

T
2

F

B

L
K

I

D

T
1

P1/P2

G

Z

A

C

O

N

V

P2

P
L

1 �� 66 = 4 (/� ISO 3019/2



 

100-P-000225-CN-03/12.2018
������� QXEM

11/16

5 ��
�

N5 0 4 02Q X M - * * *E

�< QXEM

)*,� 2 / 3 / 4 / 5 / 6 / 8

1b,� 2

' cm3/rev $��% 5,1 - 247,7

$
%&，6���7�� N（�J�K 5.4）

��（�nF~¦§¨)�J�K 5.3 
S���

5.1 ��hT

�w�	： ������� QXEM
�%： 40 cm3/rev
'@1b： 210 bar
�
*T: xyt


�<©： QXEM 52-040 N

5.2 iUjk

� $
%&,6���7��

� 2 ('�/�，+� ISO 3019/1；
�-)* QXEM 3-6
2 ('�/�，+� ISO 3019/2；
�-)* QXEM 2+8

� VMN�

�  ¢--¡，+� ISO R775

� ª«>�¬­���

� EF)*�P1?P2O�

� "1-MN

� WX®¯，/�m®¯

5.3 l'

-O = m®¯

09 = FPM（�R�A）MN�，m®¯

66 = 4 ('�/�，+� ISO 3019/2（�n）

130 = 2 ��CD，¡�)*? QX �EF
2 ('�/�，+� ISO 3019/2（�n）

¤�z��;�r，:9�2�31。

5.4 m:n(

m:n(, V：
（6��，@-¡°） = t3@ P1 ±& P2

m:n(, o：
（7��，@-¡°） = t3@ P2 ±& P1



100-P-000225-CN-03/12.2018
������� QXEM

12/16

6 � 
QXEM ��������w~�t3���²³W	´
ISO 4406 ,� 20/18/15。
4�YµJK~�，¶W·Z�
¸¹º§¨»�~�t
3。
#¸B¼§¨»�~�t3�1\[½�G¾i��
¿
À。 
Á�\D]^2ÂPpÃÄÅ±�T%。
��Brugger�_ 2�31·Z�]�1b�≥ 30 N/mm2

（`a DIN 51347-2）。

7 �!
[�	ÆÇ?�4BC�_Èb�
ÁcdÉ。

ÁÊe\DÄÅÆÇ�Ë
��	�B
r，Ì`�&
'�、ÍÎCD�ËCÊ�Ï�Ð�´Ñf。
¤Ò4��
gf��	CloÓhÔhi，:9�2�
31。

8 "�#$%

q� ISO 4406 �²³W,� (RK)

Code
ISO 4406

�j�% / 100 ml

≥ 4 μm ≥ 6 μm ≥ 14 μm

23/21/18 8000000 2000000 250000

22/20/18 4000000 1000000 250000

22/20/17 4000000 1000000 130000

22/20/16 4000000 1000000 64000

21/19/16 2000000 500000 64000

20/18/15 1000000 250000 32000

19/17/14 500000 130000 16000

18/16/13 250000 64000 8000

17/15/12 130000 32000 4000

16/14/12 64000 16000 4000

16/14/11 64000 16000 2000

15/13/10 32000 8000 1000

14/12/9 16000 4000 500

13/11/8 8000 2000 250

9 
�
�!&�'
�Ì` QXEH �������lÕ�kCD�(xl
，
:ÖÊ�8���、isÔ�&np2Â$×。
2Â$×Êe1\Ì` QXEM  �������]CDz
EØ�;
~��。
�Ù?ÊeÌ`Ñf'�CDÏ�：
– Ë��t3²³W
– ~��W=�
– t33�
[�，ÊepÃÄÅ QXEM �������G�&，

S'�Ï��5R：
– Ú�
– ��
– �£?tm�t3��W�Û
– tm��ÜÝ
– Cm�Þ
>�Ï�9�5Rßnà�1á],�ºâ（�¤8�¾
i、9-s、�������,）。
:ÖÊ­ßÅàPSãhi。
�
Ì` QXEM  �������]isÔ�&�lÕ
"CD�kr，
¶W·Zo)\�R%.^@ÄÅ'>Ï�，P]CDÏ
�?�ÍÎä�=��p�&\�åq。
9-s��hk,��pÃæç(�è5é)。:g�9-s
¦ê��w?rà。

¤�
Ss_yë，:�J7�rà 100-B-000014.



 

100-P-000225-CN-03/12.2018
������� QXEM

13/16

10 (�

10.1 
pq- W��r�SAE J518 QL 61 / ISO 6162-1 st

_�q uvw`x"q yzc��q

A    DF S
G A    DAS

G AGSF

P T

M

Z

P T

M

Z

P T

M

Z

����{
100-P-000123

����{
100-P-000119

����{
100-P-000124

10.1.1 
pq>
phT

|}~f>
pq

AGDF

|SAE��g>
pq

ASDF+RF

|SAE��g��(q>
pq2)

ASDF+RF+RVSAE+DPSAE+ZPSAE

1) ¤�
S�/�yë，:�J�K 10.2 G 10.3。

2) ¤�
S�&�，:9�2�31。

��g�z�： ¤�`t
S'��，:uh www.bucherhydraulics.com



100-P-000225-CN-03/12.2018
������� QXEM

14/16

10.2 ��g - \F;

H
E

D GY

X

R

L

F

- �{CD1b 420 bar

- /�)*+� SAE J518 ,� 61 / ISO 6162-1 �w

�QR/�(�av+�DIN2353"#
�k： ST37 / ¤� FPM（�R�A）MN�，:9�2�31。


�dì 0ì )* D∅ E F H L R X Y O-MNc
90wíîW

A

opQx
DIN912-12.9

 ïy�           [Nm]

100037000 RF 01-R08 G½“ 12,5 16 27 13 54 23 17,5 38 20,24x2,62 M8x30 30

100037010 RF 02-R10 G ¾“ 20 18 30 12 65 26 22,2 47,6 26,65x2,62 M10x30 60

100037020 RF 03-R11 G 1” 25 20 34 13 70 29 26,2 52,4 32,99x2,62 M10x35 60

100037030 RF 04-R12 G 1¼“ 32 22 38 14 80 36 30,2 58,6 40,86x3,53 M10x40 60

100037040 RF 05-R13 G 1½“ 38 24 41 19 94 41 35,7 70 44,04x3,53 M12x45 120

100037050 RF 06-R14 G 2” 50 26 45 20 102 48 42,9 77,8 59,92x3,53 M12x50 120

100055470* RF 07-R16 G 2½“ * 63 30 50 18 114 57 50,8 89 72,62x3,53 M12x45 120

* 4� RF07，�ð^�" 210 bar。



 

100-P-000225-CN-03/12.2018
������� QXEM

15/16

10.3 ��g - ��;

L Y

R

X

D K

FH

- �{CD1b 16 bar

- /�)*+� SAE J518 ,� 61 / ISO 6162-1 �w

�k： HST37 / ¤� FPM（�R�A）MN�，:9�2�31。


�
dì

0ì SAE
/�
)*

D K F H L R X Y O-MNc
wíîW

90 A

opQx 
DIN 912-8.8

ïy�      [Nm]

� 1)

�ñ

100062450 RN 07-S 2½“ 63 75 35 14 120 57 51 89 69,44x3,53 M12 x 30 70 75

100063880 RN 08-S 3” 76 88 140,5 68 62 106,5 85,32x3,53 M16 x 40 180 88

100063890 RN 09-S 3½“ 89 100 40 19 158,5 73 70 120,3 98,02x3,53 M16 x 40 180 100

100063900 RN 10-S 4” 103 115 168 79 78 130 110,72x3,53 M16 x 40 180 115

1) ·Z�
�{òó� 6 mm � DIN 2391 mz+M{�。



100-P-000225-CN-03/12.2018
������� QXEM

16/16

� 2019 by Bucher Hydraulics GmbH, D-79771 Klettgau

www.bucherhydraulics.cominfo.kl@bucherhydraulics.com

�ôËC

õ|k���	ö1
�，#÷ø/ù��>�ø`。õ|km�ÖS}
Á\ú~�G�_。Z��	#ûüL，¶W`ý�ü[þ
õ��	���ô�。

,�: 420.245. 200  


